SEVERAL EXPLICIT FORMULAE OF CAUCHY POLYNOMIALS IN TERMS OF *r*-STIRLING NUMBERS

T. KOMATSU^{1,*,†} and I. MEZŐ^{2,‡}

¹School of Mathematics and Statistics, Wuhan University, 430072 Wuhan, China e-mail: komatsu@whu.edu.cn

²Department of Mathematics, Nanjing University of Information Science and Technology, 210044 Nanjing, China e-mail: istvanmezo81@gmail.com

(Received July 28, 2015; revised November 11, 2015; accepted November 30, 2015)

Abstract. The integer values of Cauchy polynomials are expressed in terms of r-Stirling numbers of the first kind. Several relations between the integral values of Bernoulli polynomials and those of Cauchy polynomials are obtained in terms of r-Stirling numbers of both kinds. Also, we find a relation between the Cauchy polynomials and hyperharmonic numbers.

1. Introduction

Cauchy polynomials (of the first kind) $c_n(x)$ are defined by the generating function

(1)
$$\frac{t}{(1+t)^x \ln(1+t)} = \sum_{n=0}^{\infty} c_n(x) \frac{t^n}{n!} \quad (|t| < 1)$$

[8,10,11]. (Note that x is replaced by -x in [6].) The polynomials $b_n(x) := c_n(x)/n!$ are sometimes called Bernoulli polynomials of the second kind (see, e.g., [3]). When x = 0, $c_n(0) = c_n$ are the classical Cauchy numbers of the

0236-5294/\$20.00 © 2016 Akadémiai Kiadó, Budapest, Hungary

^{*} Corresponding author.

[†]The first author was supported in part by the grant of Wuhan University and by the grant of Hubei Provincial Experts Program.

[‡] The second author was supported by the Scientific Research Foundation of Nanjing University of Information Science & Technology, The Startup Foundation for Introducing Talent of NUIST, Project no.: S8113062001, and the National Natural Science Foundation for China. Grant no. 11501299.

Key words and phrases: Cauchy polynomial, Bernoulli polynomial, r-Stirling number, hyper-hamonic number.

Mathematics Subject Classification: 05A15, 05A19, 11B68, 11B73, 11B75.

first kind ([5,7,11]). Similarly, Cauchy polynomials of the second kind $\hat{c}_n(x)$ are defined by the generating function

(2)
$$\frac{t(1+t)^x}{(1+t)\ln(1+t)} = \sum_{n=0}^{\infty} \widehat{c}_n(x) \frac{t^n}{n!} \quad (|t| < 1)$$

[8,10,11]. Note that x is replaced by -x in [6]. When x = 0, $\hat{c}_n(0) = \hat{c}_n$ are the classical Cauchy numbers of the second kind [5,7,11].

In [2], the concept of r-Stirling numbers was introduced as a generalization of the classical Stirling numbers. The (unsigned) r-Stirling numbers of the first kind, denoted by $\begin{bmatrix} n \\ m \end{bmatrix}_r$, are defined by the number of permutations of the set $\{1, \ldots, n\}$ having m cycles such that the numbers 1, 2, ..., r are in distinct cycles. The r-Stirling numbers of the second kind, denoted by $\{ {n \atop m} \}_r$, are defined by the number of partitions of the set $\{1, \ldots, n\}$ into mnon-empty disjoint subsets, such that the numbers 1, 2, ..., r are in distinct subsets. Hence, the classical Stirling numbers can be expressed as

$$\begin{bmatrix} n \\ m \end{bmatrix} = \begin{bmatrix} n \\ m \end{bmatrix}_0, \quad \begin{Bmatrix} n \\ m \end{Bmatrix} = \begin{Bmatrix} n \\ m \end{Bmatrix}_0,$$

and also as

$$\begin{bmatrix} n \\ m \end{bmatrix} = \begin{bmatrix} n \\ m \end{bmatrix}_1, \quad \begin{Bmatrix} n \\ m \end{Bmatrix} = \begin{Bmatrix} n \\ m \end{Bmatrix}_1 \quad (n > 0)$$

with

$$\begin{bmatrix} 0\\0 \end{bmatrix}_r = \begin{cases} 0\\0 \end{bmatrix}_r = 1, \quad \begin{bmatrix} n\\0 \end{bmatrix}_r = \begin{cases} n\\0 \end{bmatrix}_r = 0 \quad (n>0) \, .$$

2. Some basic results

The generating functions of r-Stirling numbers of the first kind $\binom{n+r}{m+r}_r$ and of the second kind $\binom{n+r}{m+r}_r$ are given by

(3)
$$\frac{\left(-\ln(1-t)\right)^m}{m!(1-t)^r} = \sum_{n=0}^{\infty} {n+r \brack m+r}_r \frac{t^n}{n!}$$

and

(4)
$$\frac{e^{rt}(e^t-1)^m}{m!} = \sum_{n=0}^{\infty} {n+r \choose m+r}_r \frac{t^n}{n!},$$

respectively ([2, Theorem 15, Theorem 16]).

For an integer r, Cauchy polynomials of the first kind $c_n(r)$ can be expressed in terms of the r-Stirling numbers of the first kind $\begin{bmatrix} n+r\\m+r \end{bmatrix}_r$.

THEOREM 1. For nonnegative integers n and r, we have

(5)
$$c_n(r) = \sum_{m=0}^n \begin{bmatrix} n+r\\m+r \end{bmatrix}_r \frac{(-1)^{n-m}}{m+1}.$$

REMARK. If r = 0, the identity (5) is reduced to

$$c_n = \sum_{m=0}^{n} {n \brack m} \frac{(-1)^{n-m}}{m+1}$$

(see [5, Ch. VII], [7, Theorem 1], [11, p.1908]).

PROOF. Put

$$G_{n,r}(x) = \sum_{m=0}^{n} \begin{bmatrix} n+r\\m+r \end{bmatrix}_{r} x^{m}.$$

From (3), we have

$$\sum_{n=0}^{\infty} G_{n,r}(x) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \sum_{m=0}^n {n+r \brack m+r}_r x^m \frac{t^n}{n!} = \sum_{m=0}^{\infty} x^m \sum_{n=m}^{\infty} {n+r \brack m+r}_r \frac{t^n}{n!}$$
$$= \sum_{m=0}^{\infty} x^m \frac{\left(-\ln(1-t)\right)^m}{m! (1-t)^r} = \frac{1}{(1-t)^r} e^{-(\ln(1-t))x} = \frac{1}{(1-t)^r (1-t)^x}.$$

By integrating with respect to x from 0 to -1 on both sides, we have

$$\int_{0}^{-1} \sum_{n=0}^{\infty} G_{n,r}(x) \frac{t^{n}}{n!} dx = \sum_{n=0}^{\infty} \sum_{m=0}^{n} \left[\frac{n+r}{m+r} \right]_{r} \frac{t^{n}}{n!} \int_{0}^{-1} x^{m} dx$$
$$= \sum_{n=0}^{\infty} \sum_{m=0}^{n} \left[\frac{n+r}{m+r} \right]_{r} \frac{(-1)^{m+1}}{m+1} \frac{t^{n}}{n!}$$

and by (1)

$$\int_0^{-1} \frac{1}{(1-t)^r (1-t)^x} \, dx = \frac{t}{(1-t)^r \ln(1-t)} = -\sum_{n=0}^\infty c_n(r) \frac{(-1)^n t^n}{n!}$$

Comparing the coefficients of both sides, we get the identity (5). \Box

For an integer r, Cauchy polynomials of the second kind $\hat{c}_n(r)$ can also be expressed in terms of the r-Stirling numbers of the first kind $\begin{bmatrix} n+r\\m+r \end{bmatrix}_r$.

THEOREM 2. For nonnegative integers n and r, we have

(6)
$$\widehat{c}_n(-r) = (-1)^n \sum_{m=0}^n {n+r \brack m+r}_r \frac{1}{m+1}.$$

REMARK. If r = 0, the identity (6) is reduced to

$$\widehat{c}_n = (-1)^n \sum_{m=0}^n {n \brack m} \frac{1}{m+1}$$

(see [5, Ch. VII], [7, Theorem 4], [11]).

PROOF. From (4), we have

$$\sum_{n=0}^{\infty} G_{n,r}(-x) \frac{t^n}{n!} = \frac{1}{(1-t)^r} e^{\left(\ln(1-t)\right)x} = \frac{(1-t)^x}{(1-t)^r}.$$

By integrating with respect to x from 0 to -1 on both sides, we have

$$\int_{0}^{-1} \sum_{n=0}^{\infty} G_{n,r}(-x) \frac{t^{n}}{n!} dx = \sum_{n=0}^{\infty} \sum_{m=0}^{n} \begin{bmatrix} n+r\\m+r \end{bmatrix}_{r} \frac{t^{n}}{n!} \int_{0}^{-1} (-x)^{m} dx$$
$$= -\sum_{n=0}^{\infty} \sum_{m=0}^{n} \begin{bmatrix} n+r\\m+r \end{bmatrix}_{r} \frac{1}{m+1} \frac{t^{n}}{n!}$$

and by (2)

$$\int_0^{-1} \frac{(1-t)^x}{(1-t)^r} \, dx = \frac{t}{(1-t)^r (1-t) \ln(1-t)} = -\sum_{n=0}^\infty \widehat{c}_n (-r) \frac{(-1)^n t^n}{n!} \, .$$

Comparing the coefficients of both sides, we get the identity (6). \Box

3. Some further identities

There exist orthogonality and inverse relations for r-Stirling numbers ([2, Theorem 5, Theorem 6]). Indeed, from the orthogonal relations

$$\sum_{l=m}^{n} (-1)^{n-l} {n \brack l}_{r} \left\{ {l \atop m} \right\}_{r} = \sum_{l=m}^{n} (-1)^{n-l} \left\{ {n \atop l} \right\}_{r} {l \brack m}_{r} = \delta_{m,n} \quad (n \ge r) \,,$$

where $\delta_{m,n}$ is the Kronecker delta, we obtain the inverse relations

(7)
$$(-1)^n f_n = \sum_{m=0}^n (-1)^m {n+r \brack m+r}_r g_m \iff g_n = \sum_{m=0}^n {n+r \brack m+r}_r f_m.$$

Applying these identities to Theorems 1 and 2, we immediately obtain the following result.

THEOREM 3. For Cauchy polynomials with an integral value r, we have

(8)
$$\sum_{m=0}^{n} \left\{ \begin{array}{c} n+r\\ m+r \end{array} \right\}_{r} c_{m}(r) = \frac{1}{n+1}$$

and

(9)
$$\sum_{m=0}^{n} {n+r \atop m+r}_{r} \widehat{c}_{m}(-r) = \frac{(-1)^{n}}{n+1}.$$

REMARK. If r = 0, then Theorem 3 is reduced to the results in [11] and the special case in [7]. It is well-known that Bernoulli polynomials $B_n(x)$ are defined by the generating function

(10)
$$\frac{te^{xt}}{e^t - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} \quad (|t| < 2\pi).$$

When x = 0, $B_n(0) = B_n$ are the Bernoulli numbers with $B_1 = -1/2$. In [12, p. 232], for an integer r, Bernoulli polynomials $B_n(r)$ with an integer value r are expressed as

(11)
$$B_n(r) = \sum_{m=0}^n \left\{ \begin{array}{c} n+r\\ m+r \end{array} \right\}_r \frac{(-1)^m m!}{m+1}$$

It immediately follows that

(12)
$$\sum_{m=0}^{n} (-1)^m {n+r \brack m+r}_r B_m(r) = \frac{n!}{n+1}.$$

There are relations between Bernoulli polynomials and Cauchy polynomials.

THEOREM 4. For any integers n and r with $n \ge r \ge 0$, we have

$$B_n(r) = \sum_{l=0}^n \sum_{m=0}^n m! \left\{ {n+r \atop m+r} \right\}_r \left\{ {m+r \atop l+r} \right\}_r c_l(r) ,$$

Acta Mathematica Hungarica 148, 2016

526

$$=\sum_{l=0}^{n}\sum_{m=0}^{n}(-1)^{n-m}m! \begin{Bmatrix} n+r\\m+r \end{Bmatrix}_{r} \begin{Bmatrix} m+r\\l+r \end{Bmatrix}_{r} \widehat{c}_{l}(-r),$$

$$c_{n}(r) =\sum_{l=0}^{n}\sum_{m=0}^{n}\frac{(-1)^{n-m+l}}{m!} \begin{bmatrix} n+r\\m+r \end{Bmatrix}_{r} \begin{bmatrix} m+r\\l+r \end{bmatrix}_{r} B_{l}(r),$$

$$\widehat{c}_{n}(-r) =\sum_{l=0}^{n}\sum_{m=0}^{n}\frac{(-1)^{n-l}}{m!} \begin{bmatrix} n+r\\m+r \end{Bmatrix}_{r} \begin{bmatrix} m+r\\l+r \end{bmatrix}_{r} B_{l}(r).$$

REMARK. If r = 0, then Theorem 4 is reduced to the results in [9].

PROOF. We shall prove the first and the fourth identities. The others can be proven similarly. By (8) in Theorem 3, and using (11), we have

$$\sum_{l=0}^{n} \sum_{m=0}^{n} (-1)^{m} m! \begin{Bmatrix} n+r \\ m+r \end{Bmatrix}_{r} \begin{Bmatrix} m+r \\ l+r \end{Bmatrix}_{r} c_{l}(r)$$
$$= \sum_{m=0}^{n} (-1)^{m} m! \begin{Bmatrix} n+r \\ m+r \end{Bmatrix}_{r} \sum_{l=0}^{m} \begin{Bmatrix} m+r \\ l+r \end{Bmatrix}_{r} c_{l}(r)$$
$$= \sum_{m=0}^{n} \begin{Bmatrix} n+r \\ m+r \end{Bmatrix}_{r} \frac{(-1)^{m} m!}{m+1} = B_{n}(r) .$$

By (12) in Theorem 3, and using (6), we have

$$\sum_{l=0}^{n} \sum_{m=0}^{n} \frac{(-1)^{n-l}}{m!} {n+r \brack m+r}_{r} {m+r \brack l+r}_{r} B_{l}(r)$$

=
$$\sum_{m=0}^{n} \frac{(-1)^{n}}{m!} {n+r \brack m+r}_{r} \sum_{l=0}^{m} (-1)^{l} {m+r \atop l+r}_{r} B_{l}(r)$$

=
$$(-1)^{n} \sum_{m=0}^{n} {n+r \atop m+r}_{r} \frac{1}{m+1} = \widehat{c}_{n}(-r). \quad \Box$$

4. Hyperharmonic numbers

The hyperharmonic numbers are recursive sums of the classical harmonic numbers $H_n = 1 + \frac{1}{2} + \cdots + \frac{1}{n}$ $(H_0 = 0)$, defined by

$$H_n^{(1)} := H_n$$
, and $H_n^{(r)} = H_1^{(r-1)} + \dots + H_n^{(r-1)}$

together with the initial value $H_0^{(r)} = 0$. The generating function of the hyperharmonics reads as

(13)
$$\sum_{n=0}^{\infty} H_n^{(r)} t^n = -\frac{\ln(1-t)}{(1-t)^r} \quad (|t|<1).$$

More on these numbers together with a nice combinatorial interpretation can be found in the work of Benjamin et al. [1].

It can be seen immediately that the generating functions of

$$(-1)^{n}c_{n}(-r)/n!$$
 and $H_{n}^{(r)}$

are inverses of each other:

$$\left(\sum_{n=0}^{\infty} \frac{(-1)^n c_n(-r)}{n!} t^n\right) \left(\sum_{n=0}^{\infty} H_n^{(r)} t^n\right)$$
$$= \left(\frac{-t}{(1-t)^{-r} \ln(1-t)}\right) \left(\frac{-\ln(1-t)}{(1-t)^r}\right) = t.$$

The Cauchy product then leads to the following proposition.

PROPOSITION 1. We have

$$\sum_{k=0}^{n} \frac{(-1)^k}{k!} c_k(-r) H_{n-k}^{(r)} = \delta_{1,n} \,.$$

The hyperharmonic numbers can be extended to real r by the generating function (13). This way the generalization of Proposition 1 comes easily.

PROPOSITION 2. For any real x and r we have

$$\sum_{k=0}^{n} \frac{(-1)^{k}}{k!} c_{k}(x) H_{n-k}^{(r)} = \begin{cases} \binom{n+x+r-2}{n-1}, & \text{if } n \ge 1; \\ 0, & \text{if } n = 0. \end{cases}$$

PROOF. The statement follows from the identity

$$\left(\sum_{n=0}^{\infty} \frac{(-1)^n c_n(x)}{n!} t^n\right) \left(\sum_{n=0}^{\infty} H_n^{(r)} t^n\right)$$
$$= \left(\frac{-t}{(1-t)^x \ln(1-t)}\right) \left(\frac{-\ln(1-t)}{(1-t)^r}\right) = \frac{t}{(1-t)^{x+r}}$$

after comparing the coefficients of both sides. \Box

Acknowledgements. This work was partly done when the first author visited the Department of Mathematics, Nanjing University of Information Science and Technology in January 2015. He is very grateful for the kind hospitality of the institute. The authors thank the anonymous referee for careful reading of the manuscript and helpful comments and suggestions.

References

- A. T. Benjamin, D. Gaebler and R. Gaebler, A combinatorial approach to hyperharmonic numbers, *Integers*, 3 (2003), 1–9, #A15.
- [2] A. Z. Broder, The r-Stirling numbers, Discrete Math., 49 (1984), 241–259.
- [3] L. Carlitz, A note on Bernoulli and Euler polynomials of the second kind, Scripta Math., 25 (1961), 323–330.
- [4] M. Cenkci and T. Komatsu, Poly-Bernoulli numbers and polynomials with a q parameter, J. Number Theory, 152 (2015), 38–54.
- [5] L. Comtet, Advanced Combinatorics, Reidel (Dordrecht, 1974).
- [6] K. Kamano and T. Komatsu, Poly-Cauchy polynomials, Mosc. J. Comb. Number Theory, 3 (2013), 183–209.
- [7] T. Komatsu, Poly-Cauchy numbers, Kyushu J. Math., 67 (2013), 143–153.
- [8] T. Komatsu, Poly-Cauchy numbers with a q parameter, Ramanujan J., **31** (2013), 353–371.
- T. Komatsu and F. Luca, Some relationships between poly-Cauchy numbers and poly-Bernoulli numbers, Ann. Math. Inform., 41 (2013), 99–105.
- [10] T. Komatsu and G. Shibukawa, Poly-Cauchy polynomials and multiple Bernoulli polynomials, Acta Sci. Math. (Szeged), 80 (2014), 373–388.
- [11] D. Merlini, R. Sprugnoli and M. C. Verri, The Cauchy numbers, Discrete Math., 306 (2006), 1906–1920.
- [12] N. Nielsen, Traité élémentaire des nombres de Bernoulli, Gauthier-Villars (Paris, 1923).